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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x7=7
ot were fEeaRa e fiyr
(a) Which of the following statements is
correct?
o (IO BfE W% 2

(i) Existentialists think that life can be
known completely by reason.
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(b)
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(i) Existentialist think that life cannot be
known Completely by reason.
9 W @ {53 wE Qe
T &R iR
(i1i) Existentialism
thinking,
S g fogrs BTG A A |

(iv) EXIStﬁntialism supports naturalism,

I s sraety |
(Choose the correct option)

(= Rescor A Tferaq)

following groups of
group of atheistic

emphasises  abstract

Which of the
Philosophers is
existentialists?

(1i) Heidegger, Marcel, Sartre
AT, B, gyt

(Choose the correct option)

(%= Re=eo il Sfenar)

( Continued )

( 3)

Who among the following philosophers did
“ say *‘God 18 Dead”?
ECRUEIRN LRGSR EE SN
g o’ S TR
(i) Plato
(2ol
(ii) Hegel
RL5Te
(1ii) Nietzsche
fAeem
(iv) Kierkegaard

Ficorrs

tion)
hoose the correct 0P
. (x5, el 1o Sfe)
i of
ho among the following 1s the author
0 3
A \;th Phenomenology of Sprit ? e
SEd o4 o foege @R
SES

) qw©F ?
Phenomenology of Sprit JE4R

(i) Husserl
==

(ii) Kant
27

(iii) Descartes

TR0

P el :
% He%ﬁ (Choose the correct 0 uon%
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(4)

(e) Which of the following pairs is not perfectly

matched?

Siéwerca i e 713 2

(i) Essence precedes existence—
Essentialism

>8] A TR wfFed o R—Term
(ii) Concluding Unscientific
Postscript—Heidegger
Concluding Unscientific
Postscript—3[3esi[
(iii) Will to Power—Nietzsche

T #Sq T — e
(iv) Logical Investigations—Husserl
Logical Investigations—ag

(Choose the correct option)

(o o) a1t Sferean)

(f) In Sartre’s philosophy, freedom and

responsibility are two mutually exclusive
concepts. Is it correct?

WWWT&?WWW@R?&’—
o1 4R | 30T ey

(g) Who wanted to establish philosophy as a
rigorous science?

(P TS 9T Fgdre R Boieet 2w iy
ERIEEGR
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2. Answer the following in brief : 2x4=8
oo A vq s

(a) Why does Kierkegaard say that the aesthetic
mode of existence is the life of pure
immediacy?

S SR O 2. [ fea
wresfier GE 6 er?

(b) What is ‘re-evaluation of values’ according
to Nietzsche?

RISETE 0o o A e 152

(c) In what sense does Sartre understand the
nature of consciousness?

(FoaId 2pfed T BIedq = & 2

(d) Why can Husserl be called an intuitionist?

e 59 9IS FERM IR Wk 3@
o4 7

Write short notes on any three of the
following : S%3=45

oo B e TofibR R 59 G foray

(a) Religious stage of human existence in
Kierkegaard’s philosophy

Brhores e TR e Ty 5
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(6) 7))

(b) Nietzsche’ 3 y : :
) che's comoept of iy (c) What does Kierkegaard mean by saying

(G IR — “Truth is subjectivity and subjectivity is
truth’’? Explain.
(c) }(}fcs;erl’s j concept of  ‘Life-world’ ‘ool (AR WINel 9 Sl S@
cn
swelt) wifer a1 SNMYSR txm Terell? @3
WA AR w A SR et T St & Jeizez 7 rm 90
(Lebenswelt)- 43
(d) Why is Nietzsche regarded as a nihilist?
(d) Descriptive phenomenology Espiamininhiine philosophy breiys
AT @i 31 afesrT Rem fieTe R @ ® FRR 3 R 0
WY (AR FREM e R 59 <l
(e) Relationship petween freedom  and HSRCOAT |
re ibility i Y i
sponsibility in Sartre’s philosophy (e) “‘Manis condemned to be free.” Discuss the
RIC4T WS FiRie) s TEmSN o significance of this statement.
AR TR DA G A A 1 @3 SRR
4. Answer the following (any threc) : 10x3=30 1 ST 4 |
e s Bes iy (R e fofb) - (f) Write an introductory note on Husserl’s
phenomenology.
(a) Discuss bricfly cach of any five general TEEd geifedm 41 Afeer Rwre Rea <9
characteristics of existentialism. W BTt foreln |
WA MRy eErEE R @ s
oI R 5 sy AR | * % *

(b) *“Existence precedes essence.”’ Explain and
examine the statement.

‘T Arerer oad 1”7 ST e e
6= 541 1
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